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1. WE T H R
1) y==2%, (0<z<4);
(2) z = elcost, y = elsint, te[0,2r];
(3) z = acos*t, y =asin®t, a >0, te|0,2n];
(4) y* = 2ax, a>0, 0<z<a.

2. KT F i 2 iy RS I T F T AR
(1) y? =ax, y= 122 a>0;
(2)y =a? -2z, y=—2%
B)y=2z(@-1)(z—-2), y=0;
(4) y? = 2%(a® — 2?), a > 0;
(5) r = a(1 —cosf), a >0, 6€l0,27];
(6) r = asin36, a > 0.

3. KT A i 2 e A RS A T A TR

(1) y:tanxg%xfrﬂi,xe [0’%];

(2) z = a(t —sint), y = a(l — cost) GBHL y=a,a>0, t €[5, 3];
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(3) 22 + 9?2 =a? B8 x Bll, a > 0;
(4) 2 = a®cos20 LEEHL 0 = T
- KR T B A AR AR

VDzx+y+22=1, 2=0, y=0;

(2) 2® + 9> =a®, y*+ 22 =d% a>0;

(3) 22 = bla — x), 22 + 4> = ax, a>0, b>0;

4) 22 +y?> + 22 +ay +yz+ 2z =ad? a>0.

- SR BT AR AR

(1) 2 = a(t —sint), y = a(l —cost), te[0,2n] G = HhERE T B
T A2k

(2) (z —a)? +y? = b (a > b > 0) NG y RlER: I BUTER: 14,
(3) y* = 2ax (a > 0) L& x = b (b > 0) We FT BB IR R4,

(4) y = sinz, x e [0,7] %% x FhFER: BT AR s 14

e =Q0+3+--+2)—logn,n>1 iEH

(2) 8 lim, o ¢ = ¢, W lim,, o n(e, —c) = %

:EE\%EME:

W f R [a,b] ERESERE, WERX ARG R g(a) = g(b) =0
BEEERE g YA ,
| sz =o.
n f=o.
C W oo [0,1] — R? HIEGEAIENE (B o(t) = (2(t),y(1), =(t) F y(t)
FIESEN TR ), W)
L(o) = |o(1) — a(0)],
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